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lecture 1 - Learn the most simple workflow

Three simple steps:

(1) create a pulse
(2) choose parameters
(3) press start

fiberdesk

nonlinear pulse propagation
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Watch v rox
user defined measurements >
data wvalue
pulsel a &"‘
M0 -index 100 wn
M1 -postion 0200 m o
M2 - distance 0200 m
M3 - datapoints 2048
M4 - pulse eneray 927.201pJ -
M5 - puise.avg_power 231.800 W (7]
M6 - puise rep_rate 250000 GHz =
M7 - pulse shift 48271415 =]
M8 - puise width 1.134ps o
M$ -pulse.RMS 752.2181s
M10 - pulse skewness 0.342
M11 - pulse kurtosis -0.864
M12 - pulse max-phase 13.7rad
M13 - pulse peakpowerl 817472 W
M14 - pulse peakpower2 T67.964 W b
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lecture 1 - Measure something along z

To measure different values of the numerical field that fiberdesk is propagating:

(1) choose ,measure and parse” and setup the

Propagation parameter

standard propagation

number of measurement points along z,

which should be equal or less than the c-

number of steps. (button with three dots)
v’ dispersion | v Raman

After propagation, you will see the
measured values as instantaneous values or

graphs along the propagation.

v spm [TPA || + self-steepening
parameter

X temporal gain saturation

steps
stepsize

distance

| measure and parse
write file oo |

adaptive | p,poo1
local error

MNumber of frames to write

Frames: 1000
+ 1 additonal frame, which is the initial field

if fewer steps than frames are given, number of frames are cropped to number of steps

flename | test.bpf

v :

ifm

ifm

1/(W m)
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0.002 m
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Copy ASCII | Copy BMP
M1 - position
M22 - spec, width_rms.m
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4.1406382E-07 o
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Save BMP | [ Zoom Out
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data
pulsel
M0 -index
M1 - position
M2 - distance
M3 - datapoints
M4 - pulse energy

value

100
0200 m
0200 m
2048
927.201pJ
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lecture 1 - User defined measures (B-Integral)

You can also define your own measurement in addition to the pre-defined options. You need to:

(1) Open the dialog ,user defined measurements >>"

Watch v 1 x
(2) Script your own function by either using values (1 l
. . . e
measured before or math expressionen with variables piser :
M1 - position 0200 m

M84 = just an example, no meaning

Now real example: How to measure the B-Integral? (shown by several user defined measurements for educational reasons) We
translate the equation to measured values and a function that integrates (summation) along z.

, 27y M86 = 2* © *n,/A/(t*(MFD_um*1e-6/2)*2)
B =|y | |Ppeqr(2) - dz||with | v= A,
0 eff
user defined measurements
Ma4 | (M10*M11)~2 1.54365569478842e-09
Mas | M133Pr4 3.9668238857714
Mas | 2*_piP5M17/(_piFPT=1e-6/2)"2) 0.0268343815513627
—_ * MBe*5um{M85") 10.7510217188675
M85 = Pp, "L / Steps 7 oo :
Ma9 0
M87 o ’Y * Sum(”M85”) Extended Syntax:
Hint: excecution times are slowed down by complex measurements. datapoints: from to forward badward | | al

fi‘berdesk

inear pulse propagation



